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view plaincopy to clipboardprint?
c.h

typedef enum {

STATEL =1,

STATE2,

STATE3,

STATEA4,
STATES,//password pass
//...ADD here

}STATE;

typedef enum {
INPUT1 ="2',
INPUT2 =4,
INPUT3 ="7",
INPUT4 ="9',
}INPUT;

typedef struct

{

STATE cur_state;
INPUT input;
STATE next_state;
}STATE_TRANS;
c.h

typedef enum {

STATEL =1,

STATE2,

STATE3,

STATEA4,
STATES,//password pass



//...ADD here
}STATE;

typedef enum {
INPUT1 ="2',

INPUT2 =4,

INPUT3 ="7',

INPUT4 ="9',

}INPUT;

typedef struct

{

STATE cur_state;
INPUT input;
STATE next_state;
}STATE_TRANS;

C.C

#include  <stdio.h>
#include "c.h"

STATE _TRANS state trans_arry[] =

{

{STATE1,INPUT1,STATE2},

{STATE2,INPUT2,STATE3},

{STATE3,INPUT3,STATE4},

{STATE4,INPUT4,STATES},

}s

#define STATE TRANS CNT (sizeof(state trans_arry)/sizeof(state _trans_arry[0]))

int main()

{

int 1;

char ch;

STATE state_machine = STATEL;

while(ch !="¢")

{
ch = getchar();
if((ch >="0") && (ch <="'9"))//for digit password input only
{



for(i=0;i < STATE_TRANS CNT;i++)
{
if((ch == state_trans_arry[i].input) && (state_machine == state trans_arry[i].cur_state))
{
state_machine = state_trans_arry[i].next_state;
continue;

§
else if(i == (STATE_TRANS_CNT - 1))//no transfer match,reset state

{
state_machine = STATE];
§

}
if(state_machine == STATES)
printf(""Password correct,state transfer machine pass!\n");

return O;

C.C

#include  <stdio.h>
#include "c.h"

STATE _TRANS state trans_arry[] =

{

{STATE1,INPUT1,STATE2},

{STATE2,INPUT2,STATE3},

{STATE3,INPUT3,STATE4},

{STATE4,INPUT4,STATES},

}s

#define STATE TRANS CNT (sizeof(state trans_arry)/sizeof(state trans_arry[0]))

int main()

{

int 1;

char ch;

STATE state_machine = STATEL;

while(ch !="¢e")
{
ch = getchar();
if((ch >="0") && (ch <="'9"))//for digit password input only
{
for(i=0;i < STATE_TRANS CNT;i++)



{
if((ch == state_trans_arry[i].input) && (state_machine == state trans_arry[i].cur_state))
{
state_machine = state_trans_arry[i].next_state;
continue;

§
else if(i == (STATE_TRANS_CNT - 1))//no transfer match,reset state

{
state_machine = STATE];

}
}
if(state_machine == STATES)
printf(""Password correct,state transfer machine pass!\n");

}

return O;
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cnum

{

CLOSED, // % FARF
CLOSING, // IFfEIIRZS
OPENED, // TIFIRZS
OPENING, // 1IEEFFHPIRZS
+doorState = CLOSED; // #]4f %

Update()
{
switch(doorState)
case CLOSED:
if (5 ANHED)
doorState = OPENING; // Bk#: 2 [FE RS
break;
case OPENING:
door.Rotation += DeltaAngle; // |11 Jie % &%
if (NN E) /) IER B 2
doorState = OPENED; // #k#% | J IR 2
break;
case OPENED:
if (HARIT)
doorState = CLOSING;
break;
case CLOSING:
door.Rotation -= DeltaAngle; // | ] ek =i I
if (I TR i1 P %)
doorState = CLOSED; // []Jt&.2% F
break;
H
I M FES LA B LA, [T 2 & 2 BURESHL fe s X120,
Render()
{

RotateView(door.Rotation);
DrawDoor(door.Position);

cnum

ZiERE



CLOSED, // % FARF
CLOSING, // IFfEIIRZS
OPENED, // TIFIRZS
OPENING, // 1IEEFFHPIRZS
+doorState = CLOSED; // #]4f %

Update()
{
switch(doorState)
case CLOSED:
if (5 ANHET)
doorState = OPENING; // Bk#s 2 [FE RS
break;

case OPENING:
door.Rotation += DeltaAngle; // |11 Jie ¥4 &% 14
if (NN E) // IER B 2
doorState = OPENED; // #k#% | IR 7
break;
case OPENED:
if (HARIT)
doorState = CLOSING;
break;
case CLOSING:
door.Rotation -= DeltaAngle; // | ] ie k% =i I
if (I TR i1 P %)
doorState = CLOSED; // [Jt&.2% F

break;
H
/1 MRS LA B LA, TR AR MURSIN TR 283,  ZFEatls
Render()
{

RotateView(door.Rotation);
DrawDoor(door.Position);

KRR EER A T, RSP R T .
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UpdateGame()
BEGIN;
switch(gameState)

case SRR /IEA =D TIRE.



IR == TP
{
WA
gameState = JFIRIIFK
b
1f(ﬁ§*§;fé$lﬁ == lﬁlﬁ)
gameState = W E
if (R == BH)
gameState = B

case JIIf:

TEARIZAT s

if (F #3R H)

gameState = FFIEFR

o FA RS Bk A b B

case iBiH:

FETBBE I s

B

case WH:

3 AL BEANE T, Bk A R TR
case .... // AR 4L 2E

END;
UpdateGame()
BEGIN;
switch(gameState)
case FRFEFEEEL: /'EA=ANTIRE.
TGRSR == JF)
{
iidS R R
gameState = FFURHFAL
}
if (ﬁif‘%#&ﬁlﬁ == lﬁlﬁ)
gameState = W E
if GEFFSPRI == JBH)
gameState = B

case JFIf:

PRIBAT 5

if (1P 0 Hi )
gameState = FFIEFR
A AR 25 B b



case iBHi:

FETBBE I s

1B

case WH:

3 AL BEANE P IT, B A R TR
case .... // HAWIRES 4L 2E

END;
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>

//Finite state machine declaration

//state declaration

#define IDLE 0 //idle state in rx mode

#define M_ BROADCAST 1 //broadcast state in tx mode,broadcast to be a master point

#define M_WAIT BROADCAST ACK 2 //wait for broadcast ack state in rx mode,wait for the
point ack in a specific time window

#define M_WAIT _COMMAND 3 //wait for command state,wait for PC command via UART
#define M_BROADCAST CANCEL 4 //broadcast cancel state,broadcast to cancel master point

#define S BROADCAST_ ACK 5 //slave mode,send back self physical address
#define S WAIT COMMAND 6 //slave mode, wait for command from the master point

//state transition trig

//used in master mode

int isReqBeMaster = 0;//Is PC request the point to be master?
int isTimeout = 0;//Is time out?

int isReqCancelMaster = 0;//Is request to cancel master?



/lused in slave mode



int isRxBroadcast = 0;//Is there a point broadcast to be master?
int isSRxBroadcastCancel = 0;//Is receive broadcast cancel master?

typedef struct fsmtag
{

int state; //state
int timeouttime; //time out time in milliseconds

Hsm;

//function prototype
int main()

{

fsm f;

f.state = IDLE;

f.timeouttime = 0;

while(1)

{
switch(f.state)
{
case IDLE:

puts("IDLE\nWait for isReqBeMaster(1/0) isRxBroadcast(1/0):");
scanf("%d %d",&isReqBeMaster,&isRxBroadcast);

if(isReqBeMaster)

{
f.state = M_ BROADCAST;
break;

}

else if(isRxBroadcast)

{
f.state =S BROADCAST ACK;
break;

}

else
break;

case M_ BROADCAST:
puts("M_BROADCAST\nBroadcasting...\n");
f.state=M_WAIT BROADCAST ACK;
case M_WAIT BROADCAST ACK:
puts("M_WAIT _BROADCAST ACK\nWaiting for isTimeout(1/0):");
scanf("%d",&isTimeout);

if(isTimeout)
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